H30.

1/4~7 ZELQRARIELET EHZEA-21—FK

1/4(K) 1/5(&) 1/6(%) 1/7(H)
T ( ERAR—JESE— T590F) T ( ERAR—JESE— T590F) T ( EFAR—IEIE— F59F)
8:30~11:50 8:30~11:50 8:30~11:20

En

% B 1/EJog + AR
2EEATN—TIZR

NMEBRET. DVDERBALFL—=2 T DB
2EE10TL—TIZH TS

[1]  S%IhbL—=5 (1138 8) (BF15m /& F10m) [SAH]

[21  BERGEDER:tIYSEL] x5
BB E BRBKIEL /N D0 T2 J] xBK

11  ZIvrEEE--EEOMEDHEE xH10E-X10E
BEXFESTCHOXBENREES xH10EE -E10EHE
EEDEMOBEEFBEHLLAS20mA v a1 X 3K

ATV TBEFE>TOXFRDIKREE
X E 10K -£10%%HE [2A4]
ATYTR(BE)RYAHRYIL xH1EE-E1EE XK
[f: 8. 7m or 4m or 4.5m]
NPV T4 30m*x 3K

RD—0—T (KRB =RY2#) x 207 [3A#] 2 EiEvH(EH)x %200 + B/ F x 605 [2AH]
189 —O—F N9 T 127 30m x5k [3AH] 3 R5AT 42T R—F(2FH) x £30[] [2 A £
[8]  (ATFELERFED2DIZHITH) 4 t5F1—TFL—=UF (@NDEI1E21F) x30[@ [2AH]
(BT3#) ILFN—RILEFE>1-EfHLE LT B A E R (5 FT—JLR) x 5530 - £30[E [2 A4
1. 51 xHRAE2KR-ERE2K [6]  JLFN—FILFJL(8E) (FHBEE ) 3:&E)
(108) (&&:B45cm23 / £30cm 15l ) (B H45cm/&30cm )
Eimbd LT (hArDBIZED(F) 16mx 2K 6 TSR T EEST(51EE) x £30[E
(%% ATYELY (418H) x 208 (3A#) 7 /X7—0—7 (B1kg-%&700g) (458 8) x £207) [2 AHH]
RTAVIE (RTA9D18K) X 3K (43) 8 REHrL—=2% (618H) x % 10[E
[4] ERYNEEFES-ERDOMEDHER 9 BEHL—=22% (38 H) x £20[ [SAHH
x4&10E-£10E [2A#4] [10]  SLn—JrL—=25 (3% H) x £ 30[E [3AH]

(EE9Im: ASE5cm/%3.8cm )

11:45~ C—Down (& B#FiR) & Fffl

11:45~ C—Down (& BKig) & KT

TR ( EFAR—JEI5— T59F)
13:30~17:00

F& ( ERAR—YESF— T59oF)
13:30~17:10

L

NMEBREC. DVDEBBALFL——o T DB

F&E ( ERAR—JESF— T59oF)
13:30~17:00

TL—TnTF[ANHERS ] &7 —J CHRE

217&’&10’7» —JIRt3
1 ZIYrREES-EROMEOFHRE xH10[E-Z 10
BEFE-COXFROHREEE *H10EE- 2104
EROEMOEELBHLLA520mS v a x 3K

AS5AT 42T R—F(2FEH) x £30[E [2 A#]

B[N

©5F1—TrFL—=UF (BEDEIZD1F) x 30[E [2 A#H]
BRI AR5/ FF—)LF) x 530 - 2£30[E [2 A#H]

By (ER)x £20E + B/ F x 608 [2AH [Al  LYiR : &3t44K

[61  JL&N—FLFJL(8E ) (H3ER N 3%EH )
(&&:8450m/%&30cm )

SR T EFE-T(55ER) X

30[]
A9 —0—F (Bike-X700g) (478H) x £20% [2A#]

AEFHL—="7 (658H) x % 10[

© 00|10

BEHL—="2% (318H) x £20E [3AH]

SLO—TJh—=27 (3FH) x &£30[ [3AH]
(RE9m: AEH50m/%3.8cm )

S

O 1tvkd [ OBAR
43EH QYT Y
QINIU T4 T F AT AR B3ke- K 2ke)
@F v a2 (TBAEAOTEDIL)
+ 30m x 3tk (12%)
+ 60m x 2tk (84)
© 90m x 1tk (4%)
+ 60m x 2tk (84)
- 30m x 3tk (12%K)
[B] TFYIR: &it44K
+ 30m x 3tk (12%K)
+ 60m x 2tk (8%)
+ 90m x 1&vk (47)
+ 60m x 2wk (87)
x 3tvhk (12%)

16:45~ C—Down (& BKig) & Kt

- 30m
551‘3)1: ] [AEBIA RO THBEBTY SVURTITS
C

i AFF12K
[e] 1t‘y|~0)27F§E [ONIT10T @Fvial
+ 50m x 2+vhk (4K)
= 100m x 2tk (4XK)
- 50m X 2+tyk (47K)

17:00~ C—Down (& B14ig)

FAF XD RIINFITATUR—)L (B3kg K 2ke) EET-B S

OBBLAENSITS (B5m) x 84K
[ (a) FTRFSR (b) A—"—AYRBIF () FETvia(h)
d) FFTvia(k) (o) 7AUMET O ER/SR
QBELEALITS (B20m) x 4K
(a) RFv7 (b)) HHET (o) KRV (H)
(d) FEBU(E) () NIvTavy B Sv=2y
52 - K- BhBE]
LAESDIZHTE
[A] KiB#EbL—=27 (638H) x £10[E
[Bl €5Fa—TrbL—=U% (51ZD14) x £EH50E [ 2 A4 ]
TSNURYL T EEST (BB EFIBRE]) x 26506 [2A4 ]
[C] RFYELY (RXE) x 208 x2+yk [2A4]
[D] RFAYDFE (RT4vI18K) x5K
[E] SYORSV =Y RFyTHUILER) x 5K
[4%48]
TL—h#5R (418 H) x £20[E (5 15kg - % 10ke)
ATAT VT R—ILEIT (11588) x £10K (B 4ke- % 3keg)
RBUTFA T H Y2 30m x 3K
(28)
100mEEE X 2548 (27EIZ1K)
16:45~ C—Down (& TJog & {KiR)

2173&%4711, —TIZH311%
[1] RFAT4VTR—F2ER) [AAH] XUVEYDALITTITSCE
[DBBR Y1 x 22 Q20%#H ]
[2] EFHEFv(ER)x £20E + EiE/ U F x 60% [BAM]
[3] (F74) giEERr —=2% (EBRXE x50 ) [2A4]
(%) ERAELE(ES/\UFT—)LR) x 550 - £50E [2 A#]
[4] #71#) £5F2—TrL—=2J (@D3IED1) x 30E [2 A#H]
TINURY LT EES TG EFIREHD) X £6&30E
(&%) KEFHF—=27 (65B) x£10E
Sr TS0 x 10E+YA RS2 x 10E
(42 PR - BAEE - oh R BEHE)
BRERAN yF(258H) x &25H
[DATEFOFESYF QiTHkmaxbiiky]
PR HES>TOMET v a x EH%E10E
PR E->TOME T v 1 XFvT 10m
aAVER—23v50=0 @ x 2K
(52 P9+—910m+ ¥y T E20m+4v2230m)
AVER—23v50=05Q x 2K
(RRL—FL YT 10m+ /30 F 125 20m+492230m )
HALEIEDIFZDHI10E — BEI10E — #v2a30m x2FK
(42 B - BERE)
SYYRSUZUY ATy AU IVAHER) [RTH# 108 +#%+ 108 ] x6K
[ 0-70-145-225-310-400-495-595-700-810-925(cm)
— (15mfE) — 2.1mor 1.9mor 1.7m X 108 ]
THRE 400m+300m+200m+100m
[sh R ERRE]
105 Jog + 428—73)L1000mM (200mJog) X 54
(4548
BEERSDREED ENYIRAAAL—TU] x 1K
HAFTVY REFS>TDRIFFL—=2% (B3kg/&2ke)
OFBEYTEAF TV IRICE BN LED B4 —/ =AY EIF x 10K
Q@FDIJPE LY THRIF X 10K
R@FNHIFIT LEFMSDTAVE&/NYIIRIT X 104K
@Y ARRTYINLDFFTvaxB10K-E10K

HA4FTvH AT 100m
(B 3kg/% 2kg) D70 MEIF x 148 x 34K
RYIyrDrrT 20E x 3tyk L @Q/3woEIF x 1518 x 3K
11:15~ C—Down (& TJog & {KiR)
11:30 &7




